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(a) Dnieper: 16.9 (Berezina 4.5, Pripyat 5.6, Main+Sozh 6.8). Divina: 6.8. Neman: 8.9 (Neman 6.6, Vilia 2.3). Western Bug (incl. Narew): 1.4.
(b) Overlap is considered to be 100 percent of groundwater (GW) recharge; all GW is drained by rivers and becomes baseflow of water courses.
(c) From POL: 0.1 (Neman). From RUS: 7.6 (Dnieper main + Sozh), 7.1 (Divina). From UKR: 7.4 (Pripyat), 1.7 (Western Bug). Western Bug is border over short length only: 1.7 is
considered to come in and then again go out
(d) See comment under (c) on Western Bug.
(e) To UKR: 31.9 (IRWR Dnieper 16.9 + Pripyat from UKR 7.4 + Dnieper from RUS 7.6). To LVA: 13.9 (IRWR Western Divina 6.8 + from RUS 7.1). To LTU: 9.0 (IRWR Neman 8.9
+ from POL 0.1). To POL: 3.1 (Western Bug (IRWR 1.4 + from UKR 1.7).
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Computation of long-term annual renewable water resources (RWR) by country (in km³/year, average)
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